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aWfS W¥T / Objective Type Questions

qyT "eAr 1#soawaﬁﬁwm#:gaﬁ#ﬁr#4om#wamé
mmd'wwﬁmﬁvwgﬁnﬁ#@;nﬁ?:mmg
wet faweq & OMR ¥tz wv fufgaa ¢ 405

Question Nos. 1 to 80 are of objective type. Answer any 40 questions,
question has four options out of which only one is correct. You hq

" mark your selected option on the OMR sheet. 40x ]
1. g d v w9 A oot gan Afva graw g s Rt 7
A) Feiffmd (B qE-uRmwfwd
() Sm-ghw famd - (D) T @ Hr$ T
A horizontal magnet hanging freely in air always comes to resti
(A)  Any direction .(B) East-West direction
(C) North-South direction (D) Noné of these .
2. IR uw Riem REH AR F S FEE @ o 2, @ 98 S 6
A) ol erf (B) URETE ar RraRa af
(C) -~ Toatfa & gft (D) 'sqﬁﬂﬁ'éatﬁ

If a compass is placed near a wire carrying electric current, th

the compass needle

(A)  Will be deflected

(B)  The current canying' wire will be deflected

(€} Will not be deflected
- (D) | None of these

| szﬁféla I ' S Page 4 of 32
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¥R 3 wga A w0 @ B R e
(A)  forga g1 B) frem smgen % Prm
(C) (A) 3R (B) TFI (D) ¥ @ S T

Farnday made rnan}; revolutionary discoveries, including
(A) Electromagnetic induction |
(B) L.aw of electrolysis

(C) Both (A) and (B)

(D) None of these

4. faga o oftaffa =@ 2

(A)  TEREEE St w5 Rega st
B}— Torega sl 9 aifys oo &

(C) aifas ot + faga s §

(D) g S B TR 9§

An electric motor converts

(A) Chemical energy into electrical energy

(B}  Electrical erlergy into mechanical energy

(C) Mechanical energy into electrical energy

(D) Electrical energy into chemical energy

5. Wi & I g Fram f 9 w1y i o w2
T gy dm R e
(B) =TomR W amdfa frga o= ) R
(©) - w1 & warfa frga w6 R
(O) A

NS i .
. et
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D : [112!

In Fleming's lefl-hand rule, the jndex finger of the left han

indicalcs
(A) Dircction of magnetic ficld
(B) Direction of clectric force applicd on the conductor

(C)  Direction of clectric current flowing in the conductor

(D) Nonc ol-these

6. forell e a1 A fge ym yarfke %@ @ an F S awn AN fw e
quhiy &3 Y B € 2

(A) Faula yer & (BY qUH THN &
(€) Fordl o) wn & 7 (D) %4 | w8 A

When clectric current flows through a conducting wire, what typ

of magnetic ficld is genecrated above and below the wire ?

(A) Opposilc type (B) Similar type
(C) Not of any kind (D) None of these
7. v faga S fea v @ ol G R 2

(B THweia (B) ImeHwi

(€)  (A) 3 (B) I (D) ¥ & Y 7

What type of cnergy sou;'cc is hydroclectric energy ?

(A)  Rencwable (B) Non-rcnewable

(C)  Both (A) and (B) (D) Nonc of these
i mﬁ&l
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(112 ]
8. m-ﬁﬁﬂmm%mmt?

(A)  AEEH (B) wmh Zmamgume
(o) R (D) %l A B 7
Which gas is responsible for global warming ?
(A)  Nitrogen (B) Carbon dioxide
(C) Oxygen (D) None of these
9. frm @ wfea A 2
(A TEER (B) TFAA
(C) V& iaa (D) YA |

Bile juice i-s secreted by

(A)  Oral cavity (B) Liver

(C) Small intestine (D) Stomach
10. &gz o R wigk F e w1 gl @ ?

(A) ATV HEEG HET

(B) HWHY 1 WAG! QB UM

(C)  FagIavT 1 TAd HADI TGHT

(D) ¥ & HIE TE |

What is the function of the villi located in small intestine ?
(A) Blocking absorption

(B) | Reducing the surface area of absorption

(C) Flncrcaaing the surface area of absorption

{b) None of these

UGGy A GIT
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D - 112
i

(A) I (B) e
() W (D) 3=T™

The posterior part of the oral cavity is

(A) Esophagus (B) Pharynx
(C) Duodenum (D) Pancrcas
12.  @Tgd T A i § sfefis s e e SRR #
T FHEeAdl R
8y wErEregEE B R
(C) F=.TEE (D) Y B

The transfer of Ozfrorn outside environment to cells and removal ¢

CO, is referred to as

(A) Exhalation (B) Respiration
(C) Inhalation (D) Noneof these
13, S aver § e w1 g 9
(A)  woiEfa (B) CO,
J,Gi/ . (D) @R St
The basic source of oxygen in photosynthesis is
(A)  Chlorophyll (B) CO,
(C) Water '(D] Solar energy
Lss/A/613 T
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14. - Prefaed i 68 FIRem &1l ' & wy O g E ()

py  ATP (B) ADp

(c) DTP (D) . %l A 2§

Which of the following is known as the 'energy currency’ of the
ccll ?

(A) ATP (B) ADP

(C) DTP - (D) None of these

15. 9Igy # WgeW Iater &
(A)  ¥IeH % 9§ % fore (B) afedfiea @1 F&4 5 fog
(€) 3 et w1 e F forg Dy e 1 R F o
Xylem in plant is responsible for
(A) Carrying of food (B) Carrying of oxygen
(C) Carrying of amino acid (D) Carrying of water
16, e 3 v Gl retien i v o # 2
(A) ¥¥a I PRI (WBC)  (B) T T ST (RBC)
(C) <X ufgsm (D) ¥ a @

Apart from plasma, which of the following is found in blood ?

(&) White Blood Cells (WBC)(B) Red Blood Cells (RBC)

(C) Blood platelets (D) All of these
17. 37 & el frern forga 1 §SIOH & R, % st e A
(a) sEPad@me (B) foci g 2
Lo PR dmd (D) ¥ A wE TE
SS/A/613 ! g
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18.

19.

20.

AN aquiuss ——---.- .

waltcer

(A) gets ionized (B) is soluble

(C) is insoluble - (D) none of thesc
Preferfea & @ $17 ¥ ga& (olfactory indicator) TR ?
(A) @ &1 ¥ (B) &fem

() TP o) wHawh
Which of the following is not an olfactory indicator ?
(A) Clove oil (8) Vanilla

(C) Sweet potato (D) All of these
HHA ¥ <o i WA-T A TR AT P

a) Rfgs = B) Udifes I
) A o (D) T @ w T
Which acid is.found in ant sting ?

(A)  Citric acid " (B) Acetic acid
(C) Methanoic acid (D) None of these
it i forae o 7 gt v & 2
(A) A GIEHRE E) (B) ©TeT BIEHIE
(c) A H (D) TiHH B

Which of the following is kept immersed in water ?

(A) White phosphorus (B) Red phosphorus

(C) lodine (D) Sulphur
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51, mﬁm%mﬁaﬁawﬂmﬁg

(), UG B)  IuEh (i)
) @b (D) ¥ A Frd ¥
The substances, present as impurities in on ore, are called
(A) Slag (B) Gangue
(G) Mineral (D) None of these
22. Fr=ifea A fFw wig 9 9 @ sl @ @@ 1 G 202
A}y Na (B) Cu
(C) Ni (D) Al

Which of the following metals can be easily cut with a knife ?

(A) Na (B) Cu
(C) Ni (D) Al |
23. W H wH-d urg Mo fug A e R o
(A)  Fe (B) Cu
(C) Zn (D) Ag

Which metal is mixed with gold to make an alloy ?

(A) Fe (B) Cu
© Zn (D) Ag
24. R
(A) =g (B) wig
© Pmug (D) Juumg
1F<Tareia
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25.

26.

27.

Silicon is a/an -

(A) Non-mctal

| 112

(A)  In PCT " (B) InDCT
(C) In Henle's loop (D) Al of these
SS/A/613

(B)  Metal
(C)  Alloy (D)  Metalloid
Qe IR T IR i 2
W eH T (B) woe i
(©) ueft J (D) Wy
Double circulation is not found in
(A)  Frog (B) Fish
(C) Bird . (D) Human
i o § Wl @ waw e R ?
A) Y= (B) e
(C) wHad (D) WA aﬁé =l
From where does urea enter the blood ?
(A)  Kidney (B) Lungs
(C) Liver (D)  None of these
I ®] FREN Hel g 2 P
(A) PCTH () DcTH
(C) &t U D) wHA i

Where does glucose reabsorption occur ?

Page 120 I.
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(112
Kﬁmmﬁ%mﬁmmﬁWﬁwﬁmﬁ%m

=

(A) UT=H GE! (B) giw=m LiES

[(OPec Lt o (D) @b a

The mechanism for removing harmful substances formed as a
result of various activities from the body is called

(A)  Digestive system

| (B)
(C)

Circulatory system

Excretory system (D) Nervous system

29. UHE F NWW Y TR g 2 0
(A) (B) e
() =gre (D) <=
What can hapi:en due to spinal cord injury ?
(A)  Goitre (B) Dwarfism
(C) Diabetes (D) Paralysis
30. W™ & WK 6 wad 7 ufy 3
(A e (B} i
©) Iz (D)  In=mem
The largest gland in the human body is
(A) Adf’é‘-“a} (B) Liver
) [C)  Ovary (D) Pancregg
|.S8/A/A13 |

e~
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31, WY g FE §

(A) S (B) WA

(C) UTEH (D) 3 A %r§ T

Plant hormone is called

(A) Phcrofmone (B) Phytohormone

(C}) Enzyme (D) None of these
32. ufwEl gr wifis etk & e 2

(A) @& ‘ (B) 3]

€ 7™ (D) FETHFEH

An example of vegetative propagation through leaves is

(A)  Onion (B) Potato

(C) Rose (D)  Bryophylum
33. o8 wFE gl £ wWamm PR, W

(A}  f+P=0-5 (B) fxP=1

C) Paf=1 D) P+f=2

If the focal length of the lens is fand Powcr is P the
n
(A)  f+P=0-.5

B) fxP=]
(C) Pa+f=] D) Pa+f=p
34, %ﬁmaﬁq—mmaﬁd%%&mﬁm‘ﬂdm%?

(A) TR | (B) m
€) feey
Era D) W

_ Page 14 of
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Which part of camera acts like the retina of the cye ?

(A)
(C)

Apcrture (B) Lens

Film (D) Shutter

45, qmﬁwmiﬂ%mﬁm-fﬁgmq-ﬁam: £

(AL—0 W@ 3a (B) 25cm W 250 cm

(C) 25cm W@ 3Fd (D) 0T 25cm

For a healthy human eye, the near point and far_point are
respectively '

(A) 0 and infinity (B) 25 cm and 250 cm

(C) 25 cm and infinity (D) 0and?25cm

3. Sgm W @S Jake arf | e Wi B 2

(A)

G (B) e

() ~%Ten _ (D) 3N

To an
(A)
()

astronaut standing on the moon, the sky appears to be
Red (B) Blue
Black : (D) White

37. 43 6 GEEH-ETA1 F B TR A INA B B

(A)
(€)

-3t 3w (B) “WI-gf g
fre-3fe 3w (D) @l

The decreased accommodative ability of the eye causes

(A) Farsightedness (B)  Presbyopia
(C) Nearsightedness (D)  Colourblindness
SS/A/613
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38.

39,

40.

41.

fr) s ) SRRuwa @ aEE

(A) Qm (B) Q/m

cF o (D) T A wE T
The unit of resistivity in a conductor is

(A) Qm (B) Q/m

c ! (D) None of these
1 5 A fhe et B 2 7
(AL 023 (B) 0-19

C) 021 (D) 025

How many calories are there in 1 joule ?

(A) 0-23 (B) 0-19
(C) 021 (D) 0-25
ﬁgﬂaﬁﬁcﬁmﬁzmﬂﬁmu@mwm%?
(A) @@l (B) TrgifEm
(C)— THRA (D) @i
Thé filament in an electric bulb is made of which of the followir
mctals ? |
(A) Iron (B) Aluminium
(C) Tungsten (D) Copper
frgiaEen B arel gREd &) FEd 8
) fafua (B) 3H
() vk (D) ¥ & B T
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== s

(A) Diversity (B) Qermination

(C) Puberty (D)  None of these
42. Poafafes 4 1 afan Paem @Al § wge o s g 2 2
(A) TRHE (B) %3
(C) WA G W (D A
Which of the following is an effective measure used ‘in family
planning ?
(A) Diaphragm '(B] Condom

(C)  Copper Tand loop (D) Al of these
13, s ww o R ?

(A)  Hafd § Jah] % Uit 7 a1
(B) Hafd & Jehl Hauit &1 T

(C) ﬁaﬁlfit@ﬁ%ﬂuﬁmm,a’lmﬁqﬁ%
(D) W3 wf

What is the meaning of atavism ?

(A)  Inheritance of parental Characteristics in progeny

(B)  No inheritance of parental characteristics in progen
_ Y

(C}  Inheritance of ancestral characteristics in

Progen :
not in parents biharboardquestionpaper.com geny, Whlch are

(D) Al of these -
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44, fl <fha R I qEn Frend @

(A) RIS (B) ey
(€ ngafiwa - (D) fafaumm
The genetic structure of an organism is called
(A)  Phenotype (B) Genotype
(C) Heredity (D) Diversity
45, wigfas w44 g Aal w1 e wgem 2
(A) HSTETE (B) TG
() 9= fawm (D) SifEiR
The evolution of organisms by natural sclection is called
(A) Mendelism (B) Lamarckism
(C) Micro-development (D) Darwinism

46.‘ A9 iy wefifa =1 e @A R
(A) CFC (B) ADP
(C) ATP (D) DDT

The chemical which shows biomagnification is

(A) CFC (B) ADP
(C) ATP (D) DDT _
-3
SS/A/613 Page 18 of3_
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112 |
E st IO wEema § |
(A)  HUEEH (B) waferl
(c) wimrEr Dy  wE
Primary consumecrs arc called
(A) Decomposer (B) Omnivorous
(C) Carnivorous (D) Vegetarian
48. CFC & 9% 394 g 2
(A) ST A (B) ThREd
(C) T HE i (D) 37 @ afl
CFC is widely used in
(A)  Jet engines (B)  Refrigerators
(C)  Air conditioners (D) Al of these
49. #&A % foraq guEyd dya @ ?
A) 2 B) 3
€ 4 D) 5
How many isomers of butanc are possible ?
(A) 2 (B) 3
C) 4 (D) 5
50. frd= & arp %1 aen g0 @
(A) T (B) SRR
(C) SHIgTHEHA - (D) wEwadn
SS/A/613 i
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The shape of methane molecule is

(A) Lincar (B) Annular

(C) Tetrahedral " (D) Octahedral
51. wEbS DRH § wrla H g g 2

(A) 1 By 2

c 3 (D) 4

The valency of carbon in organic'compounds is

(A) 1 (B) 2
) 3 (D) 4
52. 1 & ¥ dgw e 2 2
@ @ (B) ThH
(C) UehrA (D) T § = 7
Which of the following is saturated hydrocarbon ?
~ (A)  Alkane (B) Akene
(C) .. “Alkyne (D)  None of these

53. uf¥el| %1 IUPAC am £

(A) & (B) wumgH

(C) wiA . (D) ¥ } w7
IUPAC name of ethylene is

(A) Ethane (B) Ethyne

(C) Ethene ' (D)  None of these

SS/A/613 A
o - . ; | Page 20 of!
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54. ﬂsﬂ}ﬁﬁﬁmﬁmﬂ]gﬁwwnwm?
(A) AR F) 5 v ol
(B) ClI® 3fm wum 3
(C) EEZm # Ry wum 7@l T0
(D) %W | % 7

Which was a defect of Mendclccv's.pcriodic tablc ?

(A)  Not giving proper place to oxygen

(B) Not giving proper place to ClI

(C) Not giving proper place to hydrogen

(D) None of these

mwﬁanﬁmﬁiﬁaﬂﬂmmuﬁwﬁaﬁm"’"?

55.
(e (Br
(C) EI AW (D) sTeTER
Who among the following propounded the laws of octave ?
lands
(A) Mendeleev (B) Newlan
(C) Lother Meycr (D) Dobereiner
?
56, Prefafea # 3 2 dfre @98 ftres SR B
. éo (B) Na,O
(A) 2
D) NO,
" " 203 ( t basic ?
f the following compounds would be the mos
i the
which o - a0
SO
(A) 2 iy
() Al20s . _
— Page 21 of 32
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7. Pl % W8 B FEd §
(A) THE ‘1:—"
€ N 3N (B) T
A group of rays is called
(A) Light bcam
(C) Both (A) and (B)
sg. wen H fRt T W &
(A) Tl oft R &
©y @t #
The light rays travel in
(A) any direction
(C) a straight line |
59. IFae <YW fFE R &1 gdu @ ?

(A) RATETD ) (B)-

(C) P won gard A1

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(D)

foro qa
i | FE T

Ray beam

None of these

forceht Y1 A
v & i Tl

oblique line

none of these

FfraTd
T A g T

Which type of mirror is a concave mirror ?

(A)  Divergent

(B) Convergent

(C) Both convergent and divergent

(D) None of these

60. mﬁ%ﬁaﬁﬁnﬁa&aﬁﬂhm%zﬁmma@nha
(B}~ 3aaw qdu

(A) Iu«t edu
(C) uHas giu

(D)

i 8§ B T

SS/A/613
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hi ;
Which of the following types of mirror is used in the headlight of a

car ?
(A) Convex mirror (B) Concave mirror
(C) Planc mirror (D) None of these
61. IS T R HFY 70 g 2
| (A) AT B HUTHH
(€  (A) 3 (B) A (D) ¥ & #é
The focal length of a concave mirror is
(A)  Positive (B) Negative
(C) both (A) and (B) (D) . None of these
62. e AvmegAvaiffmemas
(A) Fa (B) WA
I (D) ¥ A = T
Which mirror always forms an image smaller thaﬁ the object ?
(A) Concave (B) Plane
(C) Convex (D) None of these

63. i yerm & =, frafn A e B &

Ay~ &H (B) S9Q
C) ®WM (D) ¥ A F
The speed of light in air as compared to vacuum is
i (A) Less (B) More
(C) Same : ~ (D) None of these
= e e .Page 23 5r 35
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64.

AS.

66.

67.

: |1|'-q
mmnﬁhaﬂq—zﬂmaﬁﬁmrﬁs@htﬂ?ﬁ%?

(A) QA (B) o -fagqu
(C) wehivla . APy~ A

Which phenomenon exhibited by light is demonstrated in the

twinkling of stars ?

(A) Reflection | (B) Dispersion
(C) Scattéring (D) Refraction
woqmy Ay frp e fF s d fRaE 2 2
(A) FAlEH (B) TS
(C) I ¥ (D) T
In which state is the Kalpakkam Nuclear Power Plant located ?
(A) Karnataka (B) Tamil Nadu
{C). Uttar Pradesh (D) Gujarat
ot W (LPG) 1 W@ 394a §
(A @3 (B) =
€ =g oy
The main component of domestic gas (LPG) is
(A)  Ethane (B) Propane
(C) Butane (D) Methane
FH & Q RN G §

8 TRAWTNIEE @) wen on e

(C) Srawmr aun ¥ferm D) A+
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The two non

e
) . Newable 80Urces of cnergy ar [ 112
ob c
(B) Coal angd Petroleum T AUz, Ale Uue, sfiae-Hl,
TSI, Siicd, Ald cee, de-317 3iie
(C) Biomass gng Petroleum AR ebes udtan vss vz afe & ...

.I (D) None of these ( PiharboardQuestionpape .com _.D r

x
68, T W SER R i 4 5 Y —

(A)  EEH
: (B) 39w
(C) eI o S
Which type of reaction is respiration 2
(A) Combination (Bl Reduction
(C) Endothermic (D) Oxidation
69. TAFM ¥ WHRRU | T A wgamd
(A) TS (B)  TEEAh
(C) <ga wawSh D) A 7
.Cumpounds formed by transfer of electrons are called
I (A) Olrganic : (B) Covalent
(C) Electrovalent (D) - None of these

70, Wmﬁﬁammﬁmmﬁm%?

(A) H, +1p — 2HI
(B) NH,CNO-»HyNCONH;
(C) NaOH + HCl-— NaCl? H,0

(D) 2KClO5 —+KC! +302

Page 25 of 32
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which of the following reactions is an example of decompositio

reaction ?
(A) Hp +Iy - 2HI
(B) NH,CNO-»H,NCONH,
(C) NaOH + HCl- NaCl + H,0
(D) 2KClO3 —+KCl +30,
71, Frfafen ¥ fred éhe o T s 2 2

A W (B) Feh
(€ T (D) Rrw
In which of the ft.:llowing is tartaric acid found ?
(A) Orange (B) Tamarind
(C) Tomato (D) Vinegar

72.; qR T 1 TEENS TW R ? '
€ Sgaw sfvans (D) ¥R TEEEEREE

What is the chemical name of slaked lime ?

(A) Calcium oxychloride. (B) Calcium chloride

(C) Calcium oxide (D). Calcium hydroxide
73. Arfifirm nad wnoft & e oy = wem 2 2
(A) wEVIIE (B) WHEI®
e e i
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Magnesium is n member of which proup of the e
periadic table ?
(A)  Group Vill (B)  Group |
(C) ‘l'l“l]'.l L “)' N"nmCIﬂ'"iC clement
74.  vad aieoft A feed owad €
(A) 12 (B) 9
© 8 oy 7
How many periods are there in the periodic table ?
(A) 12 (Bf 9
(C) 8 (D) 7
75. PR i sR e ssm i g fafu i 2 2
(A) =3 (B) PeE
(C) 3nad (D) ¥R
Which of the following is not an ancient method of water
harvesting ?
(A) Katta (B) Kulh
(C) Dug well (D) Irish
76. R dlufmimwmi @MW ?
(A) Faoreht TR ® i e
(c) = amfd Dy A
What was the objective of construction of Tehri Dam ?
|:’A) Electricity generation (B) Land irrigation
(C) Watcr supply (D) All of these
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ﬂ | 114

arRre wavA @ 7§ sEuTen w0 R 2

77.
(A)  FAITEm - (B) AT
() i D} ¥ A wh
What is the new concept of waste management ?
(A) Reusc (B) Recycle
(C) Reduce (D) All of these
78. Prafifea § Ffiwoiy dawm =9 2 ?
(A) wEEn B)
(C) UferEm (D) ¥ A B A
Which of the following is a renewable resource ?
(A) Coal (B) Forest
(C) Petroleum (D)  None of these
79. Trafofee d s aita w1 g oes R 2
(A) A STEATTETES (B) EREINA WTHES
(C) SiEarS 4By fem
Which of the following is the f'najn component of biogas ?
(A) Carbon dioxide (B) Hydhrogen sulphide
(C) < Water vapour - (D) Methane
80. UfR® X B wha @
(A) FH YSH @A | (B) WM YA @M A
(C) TRTRTFE@WEA (D) w3+ 7
Peptic ulcer can be caused by
(A) Eating less food (B) Eating normal food
ONRRTIN (&) Prol;mged stal;vation (D) None of these
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WYE - ¥ / BECTION . g
VIR 9¥7 / Physics
LaL | I W / ma:t Answor Type Quostions
o¥T Woar 1% 8w ey Jweia &1 gt @ ot 4wt & gy ¢ e v &

¥ %v 2&'&" ﬁﬂfﬁw #f 4 x é =8
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

A TR A w2 3 s w1
’ Why do planets not twinkie ? Explain.
2. Py madis R wea € 2
‘What is called absolute refractive index ?

8 qRATFNR?

What is farsightedness ? |
4. Ty e Yo @ AW w0 wEA € 2

- What do you tm&crptand by electromagnetic induction ?
5 T wew i Pifoea e i vl T & 2
] Wh}r is inert gas filled in electric bulb: ?
' g~ Povwig ¥ s w T € 2
: What do you uﬁdcrstand by potential difference ?
7. Sl %1 39 G fEE FEd € 2 ‘
What is cailed the best source of en;:rmr ?
87 SRAM IR ? A T IEMR ?

What is dynamo ? What is its use ?

)
I
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Zid I9{e WT / Long Answer Type Questions

vy wemr 9 ak 10 ¥ Iy gy &1 g @ fEedt o # I 71 AR vy
*ﬁqﬁﬂ‘ﬂi’ﬁﬂfﬁﬂ#l I1x6=g

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. 1 x6=g
o ftdm wm & 2 7 ey % B & 2 e Pravon &4 fem e 2 2

What arc dcfects of vision ? What are their types ? How are the
defects resolved ? biharboardquestionpaper.com

10. aEm® 43 A e IR FEfay & g =l
Describe the structure and working method of a‘biogas plant.
A M= / Chemistry

g IA(G WFT / Short Answer Type Questions

A EEAT 11 IsTE A M E I gl A R 4 wvl S IR 31 TR* &
faw 2 3w FifE T 4x2=8

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 gquestions.
Each question carries 2 marks. 4x2=8

11. et e ] W @ e 9 gEsi @ o)
Write three information obtained from chemical equation.
/4. Hifsaw e #1 Jeia faerm el g 1w 2
' Why is an aqucc;us solution of sodium carbonate alkaline ?
)8, qEE 3 ? @ gus w1 AW frd)
What is an indicator ? Write the name of an indicator.
14, R ©E A H w0 A @ ?
. What is the difference between an atom and an ion ?
5. s ® vfonfa w

Define ores. ——
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16.. AR 3§ wrm @ wE wi @ fon § o
Why have detergents replaced soap ?

/Wimmﬂﬁ%*p

What are fossil fucls ?

18. A wnofl % Y w6 A e @ a9 wn wwe § o

What do you understand by short and long periods of periodic
table ?

| 112

i T Wy Long Answer Type Questions. ~
W¥T WA 19 U 20 3 It 1 yoF @ Pt o @ I §1 0RE T &

fere s siw Fraffra &1 1x5=§
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.
Each question carries 5 marks. l1x5=3§

A5 Wt i TarEf i F aun w g & sug 8 st we w5

Differentiate ]:ctwccn metals and non-metals on the basis of
physical and chemical properties.

20.  Hi-Wee T } 2¥E® WA ¥ I B IPW
What is energy crisis ? Mention the measures to resolve it.
‘ Wit faarT / Blology
®q IAT WY / Short Answer Type Questions

mmzz#zawwmﬂv#:ﬁi#ﬁﬁ?uﬁf&mé:mm
& forw 2 3% Fraift &1 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

-2 S & TR Ffe % T Rl

-1 _ W.die the names of four organelles of a cell.
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vaga &) g 2

'Define respiration.

em ?
what is the difference between xylem and phlo

ﬂﬁmﬁ?ﬁﬂmﬁ*mﬁé'

i ain parts.
What is excretion ? Write the names of its two main patis.

NI N Y

T #0187 - g ¥ o 3k pa siifthfaus
R TN Uue, ATees QU -6,

What is phototropism UI5ahd, Sited, Al e&e, He-311 3T

Afeedmes udtel usal = 3nfe & f3e...

26. GO ENR?

What is pollination ? ( BiharboardQuestionpaper.com p
27. DNA 3gaRmRa F1 SR &, & ? K

How is DNA the basis of heredity ?
08, iwie WA & gifvewes wE w4 E 2
What are the harmful effects of acrosol chemicals ?
#d Iaa U7 / Long Answer Type Questions
gy wear 29 td 30 ¢ swdia &1 gd & Wt vE FT I I TE 0y §

fro s 3® Fraifta &1 | | 1x5=5
Question Nos. 29 and 30 are Long Answer Type. Answer any one of them
I1x5=5

Each question carries 5 marks.
TRITEYCIYY 41 ¢ ? gfud o H
What is photosynthesis ? Describe it with a suitable diagram.

30. 3mfie gyl & @ @) Jeew et aued)

Explain recycling of waste matci‘ia]s with examples.

' 55 %
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